SplashLearn

Comparison Word Problems

Read the problem and circle the correct equations to solve the problem.

Sophia got 15 points in a video game. She got 6 fewer points than Jade.
How many points did Jade get?

Jade ?

_____________

Sophia 15 6

[ 6+7=15 } [ 15+ 6 =2 } [ 15-6=2 }

In a group, 26 people like football. 12 fewer people like basketball.
How many people in the group like basketball?

Football 26

Basketball ? 12

__________________

26-12-7 | [ 7+12-26| | 26+12-7

There are 26 comic books in shop A and 15 more comic books in shop B.
How many comic books are in shop B?

Shop B ?

Shop A 26 15

26+15=7 | [ 26-15-=7 ] | 15+2-26 |




